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%112 BEGECAHHEMOESTIBOKE BERS  RERELYIHE)
(E= : kg)
e BEOTE |BEGER |HEREO |BEOEN |BE(BER
Bke/10m | <) (ke/lom | BEHSEM | B ke O ofitis
281D F151E 15 15 250 381 363
3[E D F51{E 13 2 250 331 42
AR D FEH{E 19 14 250 485 361
5[ED F151{E 28 23 250 707 568
6Bl T 151{E 117 117 250 2,937 2,926
&t 4,842 4,260
(BB m’, & YLEO 19 EAVTHE _
e GEOTH |wEEER | BEREO | wEows | CEUSER
Bke/10m | <O (ke/10m) | BEEEM | B (m) .
281D F151{E 15.2 14.5 250.0 1.9 1.8
3[E D F51{E 13.2 1.7 250.0 1.7 0.2
AR D FEH{E 19.4 14. 4 250.0 2.5 1.8
5[ED F151{E 28.3 22.7 250.0 3.6 2.9
6[E1 D F151{E 117.5 117.0 250.0 14.9 14.9
&t 24. 6 21.6
£ 113 BEGEICETHEMOERTI BOKT (SSLEE - HARE L YHE)
(E= : kg)
&M REOTE |RE(EER |HEREO |REOEN |RE(EER
Bke/10m | <) (ke/lom) | BEHEM | 1B ke O oiitis
2[E D FH{E 9 260 221 218
3[E D F51{E 3 260 90 86
AR FEH{E 12 260 320 17
5[E D FEH{E 56 44 260 1, 465 1,138
6[E1 D Ft51{E 73 13 260 1,905 1,903
Hi 4,001 3,515
(BE : m', L&Y LE0.17 M) _
. LEOTH |LEEER | BEWED |WEOEH | CoUEnE
B ke/10m | <) (ke/10m) | HEEEM | B (md) o
2[E D FH{E 8.5 8.4 260.0 1.3 1.3
3EDFEH{E 3.4 3.3 260.0 0.5 0.5
AR D F{E 12.3 6.6 260.0 1.9 1.0
5B F151{E 56.4 43.8 260.0 8.6 6.7
6B D FH{E 73.3 73.2 260.0 11.2 11.2
&t 23.5 20.7
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1.2 ZEF3208E

1 2007 10
2 2 6 2007 12 2008 9
1.2.1 Hu AR ek
1.2-1 1.2-1
£1.2-1 EBEFEBCHTZESTIR (ASEIZLD)

CEET Ik . . _
S = Tzg A
REISORAE —%g | &8 | &8 g | &8 =
TSRAFVHEE 49. 2% 36. 4% 40. 4% 31. 0% 43. 7% 33. 2%
O LI 0. 8% 1. 5% 0. 4% 0.7% 0. 5% 1. 0%
FAXFO—)LEE 3.3% 0. 6% 8. 5% 1. 4% 6. 5% 1.1%
5B 0. 0% 0. 0% 0.1% 0. 0% 0. 0% 0. 0%
niE 0.2% 0. 2% 0. 5% 0.5% 0. 4% 0. 4%
A5 R - (AR EE 0. 4% 2.1% 0.3% 2.3% 0.4% 2.2%
+E5E 0. 4% 0. 6% 0.5% 0. 8% 0. 5% 0. 8%
ZFOHMDOAILY 14. 8% 28. 5% 11.6% 22. 0% 12. 8% 24. 7%
BAR% GEXR) 20. 3% 22. 5% 15. 3% 18. 2% 17. 2% 20. 0%
B %R GRAR) 0.3% 0. 4% 1. 4% 2. 7% 1.0% 1. 8%
BAR%R GEE) 10. 2% 6. 9% 21.1% 20. 3% 17. 0% 14. 8%
BA % LE%) 0.1% 0.1% 0. 0% 0. 0% 0. 0% 0. 0%

£t 100. 0% 100. 0% 100. 0% 100. 0% 100. 0% 100. 0%
<B&:BE-FEZ> e = o
N = 2N\ K IEI 3 ﬁﬁ i
BREISORNE g | w8 | 58 | %8 | 58 | ®8
TSAFVHE 54. 8% 39. 1% 51.2% 38. 9% 52. 7% 39. 0%
L% 0. 9% 1. 7% 0. 5% 0. 9% 0.7% 1.2%
FAOAXFO—)LEE 3. 6% 0.7% 10. 8% 1.7% 7. 9% 1.3%
5B 0. 0% 0. 0% 0.1% 0. 0% 0.1% 0. 0%
itk 0.2% 0. 2% 0. 6% 0.7% 0. 4% 0.5%
HS R - [ 5E 0.5% 2. 3% 0. 4% 2. 9% 0. 4% 2. 6%
Sl E ] 0. 5% 0.7% 0. 6% 1.1% 0. 6% 0. 9%
ZDHMDOAILY 16. 5% 30. 6% 14. 6% 27. 6% 15. 4% 29. 0%
B % GEX) 22. 6% 24. 2% 19. 4% 22. 8% 20. 7% 23. 5%
BAR% GRA) 0. 4% 0. 5% 1. 7% 3. 4% 1.2% 2.1%

it 100. 0% 100. 0% 100. 0% 100. 0% 100. 0% 100. 0%
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